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I nstructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Assume suitable data if necessary.

Q1) Attempt any Eight of thefollowing. [8x1=8§]
ad Definebootstrapping.
b) Explain posix pthread.
c) What isrole of dispatcher?
d) Listthesolutionsto critical section problem.
e) What do you mean by page hit?
f)  Whatiskernel?
g What isteady queue?
h)  What do you mean by 1/0O bound process?
).+ What are the two types of semaphores?
) % What isvirtual memory?

Q2) Attempt any Four of the following. [4%x2=§]
d Whatissystem call? Explain system call related to device manipulation.
b) Writeshort note on multilevel queue scheduling.
c) Explain producer, consumer problem.
d) Explainpaginginbrief.
e) Writedifference between preemptive and non preemptive scheduling?.
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Q3) Attempt any Two of the following. [2x4=§]
ad  Whatisthread? Explainany 2 multithreading modelsin brief with diagram.

b)  Write short note on logical address and physical address binding with
diagram.

c) Consider following set of processes with the length of CPU burst time
and arrival timegivenin milliseconds. Cal culate waiting time, turnaround
time per each process. Also calculatethe average waiting timeand average
turn around time using preemptive priority scheduling.

Process Bursttime  Arriva time Priority
P, 14 4 3
P, 5 2 1
P, 6 9 2
P, 5 5 3
P, 9 0 4
Q4) Attempt any Two of the following. [2x4=8]

ad Define process. Explain process state diagram in brief.

b) Explainreader-writer probleminbrief.

c) Consider areference string:3,2,1,0,3,2,4,3,2,1,0,4 No. of frames = 3.
Find out the number of pagefaultsusing i) LRU ii) OPT.

Q5) Attempt any One of thefollowing. [1x3=3]
ad Explainlayered operating systemin brief with diagram.
b) Explainfirstfit,best fit, worst fit, next fit algorithm.
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